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Recap, last week:

Track y* Sum vs n
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Code Error

Incorrect:

louble edep = sim_hit->getEDep! );
1T (edep * units::keV < m_cfg.threshold) 1
m_log->debug(" edep is below threshold of {:.2f} [keV]|", m_cfg.threshold / units::keV);

continue;

e units::keV = 106

0°[keV]
|GeV]
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Code Fix

Correct:

louble edep = sim_hit->getEDep! );
if (edep / units::keV < m_cfg.threshold) {
m_log->debug(" edep is below threshold of {:.2f} [keV]|", m_cfg.threshold /-unitsii+ike\);

continue;

e units::keV = 106

10°keV]
[GeV ] * = [ke V]

|GeV]

 Detectors that use default threshold: Si barrel tracker, Si barrel vertex, Si
endcap tracker

* Detectors that do not: BTOF, ECTOF, barrel MPGD



threshold = 0.396 keV

Energy threshold = 0 keV
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Number of Measurements per Track

Energy threshold = 0.396 keV
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threshold = 1.2 keV

Energy threshold = 0 keV Energy threshold = 1.2 keV
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Si Tracker Barrel Hits

SiBarrelTrackerRecHits.edep
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Yield

10
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*slide from Barak



TOF Barrel Hits

TOFBarrelRecHit.edep
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BTOF threshold = 70 keV

Energy threshold = 1.2 keV Energy threshold = 1.2 keV, BTOF threshold = 70 keV

10
—1700
9 700
— 1600 o
600
— 1500 7
500
6

101
|
' IIII

400
400

300 300

200 200

Number of Measurements per Track
Number of Measurements per Track
0]

100 100

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
OO 5 10 15 20 25 30 35 40 45 50 0 OO 5 10 15 20 25 30 35 40 45 50

Number of Hits Number of Hits

0

19



Summary

* Do not see much difference when energy threshold = 1.2 keV is applied
* Tested a higher threshold in the BTOF as a check

* A git issue has been created, and | have been assigned to fix it

20



